Total No. of Printed Pages—3
3 SEM TDC GGRH (CBCS) C 6

2021
( Held in January/February, 2022 )

GEOGRAPHY
( Core )

Paper : C-6
( Regional Geography of the World )

Full Marks : 80
Pass Marks : 32

Time : 3 hours
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1. Answer the following as directed : 1x8=8
(@) The Strait is found between Asia
and North America.
(Fill in the blank)

(b) Which part of Europe is noted for
Olives?

(c) Name one desert of South Africa.

(d) The Mediterranean type of climate is
characterized by rainy winters and dry,
hot summers.

(State True or False)
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(2)

(e) Name the famous cotton textile centre of
United Kingdom.

() The climate of South-East Asia is
Humid Tropical/Evergreen/Arid.
(Choose the correct answer)
(g9 Name one north-flowing river of Asia.

(h) Grassland of North America is known
as

(Fill in the blank)

2. Write short notes on any four of the
following : | 5x4=20

(@) Mineral resource of Middle East

(b) Agricultural practices in Mediterranean
Region

(c) Soil types of Asia

(d) Tea industry of India
(¢) Ruhr valley of Germany
() Industrial belts of USA

3. Divide North America into major
physiographic divisions and explain any one
of them in detail with diagram. 4+8=12
Or

Discuss about the major vegetation type of
Asia and show how it reflects the diversity of
climate in the continent, 7+5=12
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4. Give an account of the climatic types in
Africa. State the role of climate influencing
the development of the continent. 7+5=12

Or

Discuss the influence of relief and climate on
the different industries in Europe.  6+6=12

5. Give an account of distribution of population
pattern of the world. Describe the factors
influencing the uneven distribution of
population with example. Explain why plain
regions are densely populated than the
mountainous regions. 7+5+2=14

Or

Discuss about the population composition of
South-East Asia. Explain why South-East
Asia is densely populated. 8+6=14

6. Discuss about the cotton textile industry of
Great Britain established on the basis of raw
materials and geographical location. 14

Or

State the concept of developed and

underdeveloped. “Deficiency of mineral

resources can lead to industrial under-

development in a region.” Elucidate the

statement. 6+8=14
* & Kk

22P—2200/197 3 SEM TDC GGRH (CBCS) C 6



